TD tub on chassis assembly

(Individual wood pieces should already be sanded and contoured to match original wood by test fitting inside sheet-metal quarter panels and any overlong pieces cut or sanded to length. Also, my old doors were good enough to reuse; hence there absence from this discussion)

If you decide to use stainless steel machine screws and carriage bolts don’t forget to use a bit of anti-cease to prevent thread galling.

Also don’t for get to lube your wood screws as well. (I just put mine in an old tuna fish can as needed and sprayed them down with WD-40.)

Since it’s readily available, I used the Moss MGT catalog for all component names.
Last series of steps before/during final tub assembly with screws and glue.

Using originals as a guide, mark and drill holes for bulkhead bolts in the front inner top and side rails and the two additional machine screw holes in the inner top rail for the two dash top brackets (                         ). 
Using original as a guide, mark and drill carriage bolt holes in lower rear bottom rail. 
Using original as a guide, mark and drill machine screw holes in plywood tank backboard. 
Attach front sheet-metal bulkhead to left and right bulkhead stiffeners. 
Loosely attach body tub attachment plates to chassis roll bar. 
Loosely attach rear bottom rail to chassis. 
Attach (wood) bottom main rails to (metal) body frame rails.                                                                                        (12, #8 x 1” slot head screws)                                             
Loosely install (metal) body frame rails (now with bottom main rails attached) to chassis and rear bottom rail. 
Attach (metal) rear tie bar to body frame rails.                                                                                                              (4, 1/4 x ¾” slot head machine screws)

Position the rear top rail in its body frame rail brackets and temporally attach plywood tank backboard.    (8, ¼ x 1” slot head machine screws)
Final wood and sheet-metal test fitting prior to drilling for screws.

Beginning at latch pillar area and working towards the rear of tub begin fitting all tub wood together, clamping each joint as you go. 
Clamp latch pillar to bottom main rail then scuttle side rail to latch pillar and finally by using the steel bulkhead and its’ bolts to hold things in place fit the inner and outer side and top rails. 
Clamp hinge pillars in place along with the under door rails. 
Clamp hinge pillars, elbows, and rear side rails together, and then clamp rear side rails to the body frame rail brackets. 
As the wood fitting continues begin test fitting sheet-metal quarter panels as well, especially around the door openings. 
Relieve top of the lower hinge rabbit on drivers side, there seems to be a slight interference with rear quarter panel fit along door inner edge. Rabbits In hinge pillar and hinge indentions in sheet-metal don’t quite line up when hinge pillar is fitted tight to bottom main rail. 
‘Re-contour slightly’ inner surface of nail flange area of the hinge pillar and under door rail for better rear quarter panel nail flange fit.   
‘Re-contour slightly’ door radius on both hinge pillars and under door rails to allow the rear quarter panel to drop down a bit lower for a tighter fit along door opening. Trying to get the hinge pillars to sit down tightly on top of bottom main rail. It appears that when the rear quarter panel’s door hinge detents lock into the hinge pillar rabbits the door radius is preventing the hinge pillar from fitting tightly on to the top of the main bottom rail. 
‘Relieve slightly’ front surface along nail flange area of the inner top rail and both inner side rails for nice ‘right angle’ fit of front quarter panel nail flanges to front outer rails. Should not need to bend these flanges outward to fit over these inner rails. 
Tape 1/16” wood strips to inside of door opening, set doors into openings and check for adequate clearance and fit, note and correct any problems. This is where the under door rail’s length comes into play as that’s what sets the width of the door opening. 
Begin drilling pilot holes for stainless steel slot head wood screws.

Drill pilot holes and attach metal dash side brackets to scuttle and inner side rails.                                          (10, #8 x ¾” slot head screws)
Fit inner dash top brackets to front inner top rail.                                                                                                              (2, ¼ x 1 ¼” machine and 2, #8 x ¾” slot head screws)
Fit inner dash to dash side and top brackets.                                                                                                                       (6, ¼ x 1 ¼ slot head machine screws)

Drill pilot holes and screw wood crosspiece to top inner rail and inner dash panel.                                             (3, #8 x 1 ¼ slot head screws)
When inner dashboard panel comes in from Seabrook, drill it for machine screws and other holes necessary to duplicate original, fit crosspiece to it an inner front top rail.                                                                     (6, ¼” x 1 ¼” slot head machine screws)

With front sheet-metal quarter panels and scuttle top panel clamped in place, inner and outer front rails in satisfactory position, and all the bulkhead bolts tight, with rubber ‘cowl to bonnet’ weather-strip laid loosely in place, check for tub to bonnet fit along front top and side edges of tub sheet-metal. When everything looks good, drill pilot holes and screw the inner and outer front rails together from inside the tub in several places (two on each side on top rail inboard of scuttle brackets and one each side midway on side rails) (4, #10 x 1¾” slot head screws) to hold both sets of rails in position while front sheet-metal bulkhead is removed from tub. 
Test fit windshield cowl brackets to scuttle top. (I’m using bent set of brackets so I’ll need to re-work passenger side bracket, drivers side fits fine). 
By this stage the tub, including sheet-metal panels, should be totally assembled and held together tightly with clamps.

Unbolt and remove front sheet-metal bulkhead from tub and bulkhead stiffeners while leaving tub attached to chassis. 
Replace the four lowermost bulkhead bolts at (metal) body frame rails and the four bulkhead bolts at the chassis rollbar to body tub attachment plates and tighten. 
Check side to side measurement from firewall chassis hoop to front tub side rails. Place a clamp from rollbar hoop to outside of tub and tighten slowly to bring tub into ‘side to side’ alignment. When tub is centered tighten tubs chassis rollbar to body tub attachment plate bolts at the rollbar securely to keep this alignment set. 
Using original screw holes in front outer rails as a guide drill pilot holes into inner front top and side rails. (5, #8 x 1½” slot head screws for top rail and 10, #10 x 1¾” slot head screws for side rails)
Remove front outer top and side rails and drill pilot holes and screw inner side rails to scuttle and bottom main rails.                                                                                                                                                                        (6, #8 x 1 ½” slot head screws) 
Hopefully you can skip this next step.

Drill out screw hole and glue in wooden dowel for screw in front side rail, passenger side where my new screw hole from the back of the inner rail intersected the old one in the outer rail and re-drill for new screw location. 
Drill pilot holes and screw rear body frame rail rear top rail brackets to rear side and top rails.                    (16 #8 x ¾” slot head screws) 
Make sure hinge pillar is at 900 to bottom main rail, drill pilot holes and screw rear body tie bar to hinge pillars.                                                                                                                                                                             (12, #8 x 1” slot head screws)
Drill pilot holes and fit rear side curtain brackets to rear side rails (4, #8 x ½” slot head screws). 
From ‘inside the tub’, drill pilot holes and screw together the rear elbows to rear side rails                        (6, #10 x 1” screws). 
Carefully remove front and rear sheet-metal quarter panels then re-clamp hinge and latch pillars to bottom main rails. 
Drill pilot holes and screw together the under door rail to the hinge and latch pillars, and the bottom main rail (need to repair split on drivers side front edge under door rail).                                                                                   (I used 8, Kreg #10 2½” pan head square drive screws)

Now from ‘outside’ the tub, drill pilot holes and screw together hinge pillars to lower part of rear elbows (one screw from outside, one from inside door).                                                                                                                      (2, #8 x 1½” slot head screws from inside the door opening and 2, #8 x 1¼” slot head screws from inside the tub) 
Drill scuttle side rails for machine screws to attach front portion of dash side brackets (use hole in front of bracket as guide).                                                                                                                                                           (2, ¼ x 1¼ slot head machine screws)
Drill pilot holes and screw plywood tank backboard to rear top and bottom rails.                                         (6, #8 x ¾” slot head screws)
Clamp into position just below the brackets and then remove the metal dash side brackets, plywood inner dash, and inner top rail then drill pilot holes and screw together the scuttle rails to the top of the latch pillars from inside the tub (dash side brackets hide these screw locations).                                                                    (4, #10 x 1½”)
 Re-attach metal dash side bracket to scuttle and inner side rails to aid in support for next step.                  (2, ¼ x 1 ¼ slot head machine screws and 10, #8 x ¾” slot head screws)
Door fitment

Trim to length and grind to fit two (1¼” x 1/8” x 10”) steel plates to fit inside rear tie bar to reinforce the hinge area (need to grind off ~1/8” from two areas along inside edge of each piece to fit inside tie bar). 

Insert metal hinge reinforcing plates into rear body tie bar. 

Refit sheet-metal quarter panels and clamp into place, check wood joint and panel fit, note and correct any problems. 
Tape short, 1/16” thick, wood strips to inside of door opening for checking doors for adequate clearance and fit. 
Since I’m reusing my old, un-restored doors I’ve kept their original hinge placement. 
Mount hinges to doors and fit doors into openings, note and correct any clearance problems then clamp lightly in place with back edge of door flush to sheet-metal and mark line on outer rear surface of hinge at sheet-metal face. That should give a starting point for door hinge placement.  Good luck!

Drill holes for hinges and door-checks in hinge pillars. 
Clamp the hinge reinforcing plate firmly to hinge side of rear tie bar and use drill bit to mark the hinge reinforcing plates for machine screws and door-checks. 

Hopefully you can skip this next step as well.

Top of passenger side door is slightly proud of rear quarter panel when closed, tried enlarging holes but am badly off, remove rear quarter panel sheet-metal, re-drill top hinge holes in passenger side hinge pillar for 3/8” dowels, glue in same-allow glue to dry- then cut dowels flush and sand smooth, re-fit rear quarter panel and re-position hinge for better fit, mark, re-drill, attach door and again check for fit. 
(2, #10 x 2” 20tpi. Slot head machine screws; upper hinge to hinge pillar)
(8, ¼” x 2” 20tpi. Slot head machine screws; hinge to hinge pillar)

(8, ¼” x 1¾” 20tpi. Slot head machine screws; hinge to door pillar)

Disassemble tub.

Preparations necessary to drill and screw latch and hinge pillars to bottom main rail from chassis side as original.

Clamp latch and hinge pillars firmly to both (metal) body frame rails and (wood) bottom main rails. 
Remove all the screws, machine screws, and carriage bolts from rear top, bottom, and side rails, elbows, the plywood tank backboard, and the (metal) rear tie bar and body frame rail brackets, allowing the removal of (wood) bottom main rails, pillars, under door rails, inner front side rails, scuttle rails, and the (metal) body frame rails, as ‘one’ drivers side and passenger side unit.                                          
Drill pilot holes and screw from (wood) bottom main rail into lower center of each pillar just below the (metal) body frame rail to help lock pillars in place.                                                                                                       (4, #10 x 1½” slot head screws )
Drill holes for either machine screws “as original” or torque washers and carriage bolts using holes in (metal) body frame rails as a guide, through bottom main rails and both the latch and hinge pillars.            (4, ¼” x 2 ½” carriage bolts)
If using carriage bolts and torque washers on latch and hinge pillar to bottom main rail joint attachment (instead of machine screws as origional) inlet to clear sheet-metal quarter panels.                                  (torque washers are 1-1/16” diameter so use 1-1/8” forstner style wood bit)                                                                                                           “Don’t know if I would go with torque washers and carriage bolts if I was not going to glue up these joints as inletting removes too much wood”.
Drill pilot holes for screws for bolt flange of (metal) body frame rails into inner front side rails.                                     (4, #8 x 1” slot head screws)
Clamp latch and hinge pillars firmly to (wood) bottom main rails then remove scuttle and inner side rails and (metal) body frame rails. 
From the (wood) body main rail side; drill pilot holes and screw together the hinge and latch pillars to the bottom main rails with two additional screws each, one on each side of the previously drilled machine screw hole.                                                                                                                                                                      (8, #10 x 1½” slot head screws)
Disassemble body main rails and latch and hinge pillars.
 Tub should now once again be totally disassembled. 
Hopefully you can skip this next step.
Drill out existing lower two holes and glue in wooden plugs in passenger side inner front rail; then re-drill holes to better ‘line-up’ with holes in the attachment flange along front of  (metal) body frame rail. 
Sand to taper front portion of bottom main rail to ‘bring in’ lower front edge of front quarter panel on driver’s side. 
Inlet rear bottom rail for torque washers and carriage bolts.                                                                                            (use forstner style wood bit as above)
Inlet lower corners of tank backboard for torque washers and carriage bolts.                                                                        (use forstner style wood bit as above)
Treat all wood with Rot Doctor CPES (clear penetrating epoxy sealer). 
Hopefully you can skip this next step.
Fix my mistake of countersinking the wrong side of the plywood tank panel with a Rot Doctor Layup and Laminating Epoxy Resin mixed with fine sawdust paste. 
Last minute sheet-metal and paint work.

Weld up holes in lower door opening in front quarter panel sheet-metal. 
Weld up the driver’s side of rear body tie bar where I cut the original welds apart on the drivers to re-adjust to better fit hinge pillar. 
Drill holes in small sheet-metal screw covers inlet into under door rails.                                                                    (5/64” hole)
Drill holes for machine screws in hinge reinforcing plates, leave a little ‘wiggle room’ by drilling holes slightly oversize (5/16” for the ¼” and ¼” for the #10 slot head machine screws) and mark each one for side position). 

Sand blast, and prep for paint the two metal hinge reinforcing plates (1¼” x 1/8” x 10”) that go inside rear body tie bar to strengthen hinge area of tie bar.

Sand blast and prep for paint inner and outer steering column. 
Sand blast and prep for paint radiator stay bars. 
Prep and paint inner and outer steering column, weld repair to rear body tie bar, hinge reinforcing plates, radiator stay bars, and under door rail screw covers with POR-15. 
Top coat POR-15 on outer steering column, radiator stay bars, and rear body tie bar and under door rail screw covers with por-15 chassis black. 
Fit turnbuckle assembles to inside of doors.
Paint all wood surfaces not covered by sheet-metal ‘black’ (except joint surfaces to be glued), as original.  From Chris Coupers website (www.mgcars.org.uk/mgtd/mgtd_finishes.htm) “The Original TD Midget”, inside the tub- metal and wood surfaces were painted a satin black. 
On all joints to be glued, lightly sand all joint surfaces to help glue stick to the CPES treated wood (not necessary if not gluing joints). 
Attach new rubber sealing strips (I used DAP Weldwood Contact Cement) to rear of body frame rails in wheel well area. 
Begin final tub assembly with screws and glue.
Begin tub assembly ‘for last time’ by attaching (wood) bottom main rails,(metal) body frame rails, and the hinge and latch pillars together with screws, machine screws (or torque washers and carriage bolts), and glue. (Rot Doctor’s All Wood Glue)
Loosely attach (wood) rear bottom tub rail to chassis with torque washers and carriage bolts.                                       (3/8” carriage bolts and torque washers)
Loosely attach one (metal) body frame rail, with bottom main rails and pillars attached, to chassis.                          (3/8” carriage bolts)
Place rear body tie bar in position. 
Loosely attach the other (metal) body frame rail, with bottom main rails and pillars attached, to chassis. 
Attach rear body tie bar to body frame rails and hinge pillars checking to keep 90 degree angle of hinge pillar to bottom main rail.                                                                                                                                                        (4, 1/4 x ¾” slot head machine screws and 12, #8 x 1” slot head screws)                                                                                                        
Insert hinge reinforcing plates into rear body tie bar (double check to make sure the right bar goes in the proper hole and in the right orientation). 
Attach (wood) rear top rail to (metal) body frame rails.                                                                                                  (16 #8 x ¾” slot head screws)
Attach plywood tank panel to upright portion at rear of body rail with machine screws.                                                           ( 8, ¼ x 1” slot head machine screws)
Attach plywood tank panel to rear top and bottom tub rails with wood screws.                                                                  (6, #8 x ¾” slot head screws)
Attach (wood) rear bottom rail to (metal) body frame rails with torque washers and carriage bolts. 
Now attach all other tub wood, with glue and screws, to the hinge and latch pillars, the body frame rails, and the dash side brackets, using wood shims and/or Layup and Laminating Epoxy Resin mixed with fine sawdust paste to fill and tighten any wood joints where necessary (remember the door hinge reinforcement plates). 
Refit and clamp into place all sheet-metal panels and fit all machine screws along lower edge of rear quarter panel wheel wells.                                                                                                                                                      (8, 1/4 x ¾” slot head machine screws)
Temporally attach rear body tie bar to rear quarter panel wheel wells with small machine screws. Will replace these machine screws with steel rivets later. 
Attach and test fit door hinges to tub. 
Temporally fit chrome cowl/windshield bracket to front quarter panel. 
Check for equal offset of the front right and left corners of the scuttle top sheet-metal as it steps down to the outer top and side rails before pinning down scuttle and front quarter panel sheet-metal. Temporally bolt inner front side rails to body tub attachment plates on chassis roll bar to hold things in place for nailing. (May need to refit front top rail by moving up the passenger side corner just a bit). 
Remove temporary bolts from front inner side rails and body tub attachment plates  to attach outer front side and top rails to inner rails with ‘brush on’ seam sealer and screws. 
Apply black 3M flexible strip caulk to forward facing surfaces of outer top and side rails and bolt on front sheet-metal bulkhead. 
Fold over all remaining sheet-metal nailing flanges and nail down all sheet-metal. 
Seal seams. 
Adjust doors for fit. 
Test fit rear fenders; adjust where necessary with ‘BFH’ to clear rear spring shackles. (Done)
Remove rear fenders.

Remove tub ‘as unit’ from chassis for painting.

